13 GAGE MIN. GALV. STEEL

TRACK SPLICE OR FLAG BRACKET. \\Auo? GALV. STEEL
FASTEN TO WOOD JAMB WITH TOP BRACKET WITH
5/16" X 1-1/2" LAG SCREWS. 10GA. ROLLER HOLDER

Y/ SEE DETAIL D. OPTIONAL
(3) 1/4” CARRIAGE BOLTS // LONG PANEL
13 GA. GALV. STEEL EMBOSSES
2" STEEL ROLLER WITH 20 GA.CENTER STILES (7) COLUMNS

7/16" DIA. LONG STEM. CENTER HINGES (3) COLUMNS
TIRE: STEEL 10 BALL.

-—— 2" 13 GAGE GALV. STEEL

VERTICAL TRACK § “
" - > STRUT JUST BELOW
Yieer v Lodke |G FOP ERAGKET, 9 STRUTS — _l_-_._l_. ._l._._
SCREWS 3" 18GA WIDE ;
mww@x 34 (SEE DETAIL A)
HEX HEAD SELF __wﬁ_.%ﬁmww
DRILLING SCREW 10 GA GALV. STEEL o_um_~>.6m|/m.

\wmm DETAL E DETAIL D 14 GAGE GALV. STEEL END REQUIRED

== = HINGES ATTACHED WITH (8) SEE DETALL C
—~ [ 1.25" SCREWS, TYP. (SEE DETAIL C).

— A

STRUT ON UPPER PART 16" SHOWN
OPENING HEIGHT OF SECTION ON HINGE
(NOT OVER LEAF. (SEE DETAIL C).

DOOR HEIGHT)
H_ 13GA. END CAP

. 20 GAGE END STILES
T 2.75 L

DETAIL A TYP. LOWER STRUT REF.—_|

=" 1BGA WIDE STRUT USE TWD EXTRA SELF DRILLING
SCREWS THROUGH TOP AND
STRUT ON LOWER ’ BOTTOM LEAF OF HINGE, END
PART OF SECTION STILE & RAIL AS SHOWN.
ABOVE HINGE LEAF. o ted g TYPICAL EACH END HINGE:

(SEE DETALL C).

1/2" POLYSTYRENE
INSULATION
STANDARD FOR
MODEL 735

TRACK JAMB BRACKET

\ 2"
LONG HEX HEAD SELF . i 10 BALL LONG S
7.25" LONG

DRILLING SCREWS.
(2 PER VERTICAL STILE) DETAIL B . \\
—3/8" POLYSTYRENE INSULATION TYP. UPPER STRUT REF /\/\_ /
03_02>_. FOR MOD. 724, 730, LOCKING COLLAR
/n 750, 755, 426. (INSULATION NOT TESTED) 1/2" FROM HINGE

STRUT MOUNTED IN CENTER OF SECTION ON ALL ROLLERS

20 GAGE END STILES — FASTENED

USE END CAP OVER END STILES. .
(SEE DETAIL B) 21

PANEL GALV AND
PLASTIC MOLDOING NAILED SHRRNN PREPAINTED STEEL
m<mm< 6" 6-D TYPE z>__. MIN. |“¢ 25 GAGE MIN.

F~
GALVANIZED STEEL STRUT. \
Li J\ ATTACHED WITH 1/4™ X 3/4 STEEL morrmmml\\

b

DETAIL C

__ STRUT OVER BOTTOM BRACKET.

g
18 GAGE GALV. STEEL CENTER HINGE 20 GAGE OP_|< STEEL CENTER STILE. \ v 15 GAGE CGALV. STEEL BOTTOM BRACKET
ATTACHED WITH 4 FASTENERS. ATTACHED WITH TOG—L—LOCS OR RIVETS. ATTACHED WITH 5> FASTENERS.
13 GAGE GALV. STEEL TRACK BRACKETS. SEE ABOVE SECTION A—A FL 15080

FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2"
NOTE: ALL NON-DESCRIPTIVE FASTENERS SHOWN TO BE
LAG SCREWS & WASHERS. SEE DETAIL E. 1/4"-20 X w\m_. HEX BOLTS % NUTS OR

PREPARATION OF JAMBS BY OTHERS. SEE WINDSOR
DWG. 99—A—061 FOR MORE INFO. 1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS.
P.O0. BOX 8915

SECTION B-B
LITTLE ROCK, AR
W wiNDSOR DOOR | /2 1S
PSF. TABLE (501) 562-1872

DOOR_SIZE DESIGN PRESSURE | TEST PRESSURE
WIDTH HEIGHT POSITIVE | NEGATIVE | POSITIVE [NEGATIVE
MODELS:

20'~0"JUP_TO 12'=3"[+25.5 [~28.5 John £, Scoles PE 730 724 426 735 750 755

18'=0"|UP TO 12'-3"+31.5|-35.2 A= S SV PART NAME:

16’—Q"|UP TO 12'-3"|+39.9 |—44.5 FL-PE-51737 MODEL 730
3 a5 . . ) L2 e onn "UP TO 20" WIDE”
14'-0" UP TO 12 -31+45.6 —-50.9 Professional Engineer’s seal TOLERANCE W5 C

provided only for verification of

12 -0 Up 170 12 -3 +53.2 |—59.3 windload censtruction details. W_M\WOM._ﬁmM NEXT LEVEL DATE- D/\/\D ZO
FOR DOORS OVER 4 SECTION TALL, ADD 2 STRUTS PER SECTION. i . : 4
ANG. £ 1 12—-03-09 99—-B—-095

TESTED PER ANSI/DASMA 108-05 AND 108-02 (STATIC PRESSURE) AND COMPLIES WITH ASTM E-330 12/15/11 |NEW LOGO/ENG. STAMP SCALE PLOT SCALE DRN. BY
AS EQUIVALENT. DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF QTHERS. 1 DATE CHANGE NONE mzm SHEET 1 OF 1

¥
WITH TOG—L-LOCS TO PANEL. |5 BRACKETS PER SIDE | m
14




